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< 270,000
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206 M = dl 10,730 15,630 A4 900
01 X2 bl 10,730 15,630 A4 900
OZ28 M HAICIA ME(HOH) 6,570
O&AL 23 6EHE 99,000& * 10JH 990
OFRsts3 &I 33,000& = 10H 330
OFAHE HOB(EER)
2,500& * 1,5007H 3,750
OX™AHE JlEF THE2HI
10,000 * 30MIE = 53| 1,500
O X2 ME (BHXI) 300
OstXl 602 = 5,0000H 300
O3DEAICIA ¥ ZZIEHE(SUHEAHOIA E)
ANAHE 1,060
OX 2 66,000& * 10 * 10 660
OAOI A 2,200& * 105 = 104 220
OFAEE 1,800& = 10004 180
OHEHZY A CIMME(AA) 300
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ONES2E CIMHME (ZHIIX) 2,500
OgtA Xl 100& = 15,0000H 1,500
Ood=ZE, =2, HEg S 1,000, 000& 1,000
g2 282 MY =X 83,530 92,140 N8,610
201 LBt Y| 78,530 88, 140 N9,610
01 AP 22| H| 53,390 66,000 N 12,610
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100,000 = 13¥ * 43| * 95% 4,940
OXX AT2AL/AKS EHELH
100,000& * 6Y * 23] * 95% 1,140
ottt & 28l 22 Ro= MHE 46,550
oets2 sE23 T} 17,100
-=2 2 =20
15,000€ = 1,2008 * 95% 17,100
oetsa g2 19,000
-=2 5002 * 10,0000 * 95% 4,750
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EX: EFDNoMEEY SHAG Y
M 2RMBEARS
. gelE5 22t A (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OHLEE 39,308,000& * 3.23% 1,270
O&INRY 1,270,000& * 8.51% 109
ongEgEs 39,308,000 * 1.5% 590
OMITEESE 39,308,000& * 1.05% 413
201 et | 13,104 0 13,104
01 AFR 2t 2| H| 13,104 0 13,104
ojEsa 7,518
Oz Xl 15,000 * 2JHAF = 128 * 95% 342
O Xl gtxl
13,0003 = QAL = 258 * 128 x 95% 2,668
Ost=2448 E2tX
11,000& = 1& = 128 * 95% 126
OZELX (28N =3tH)
15,000 = 5IHAF = 128 = 95% 855
OXNX (28N =3tH)
13,000 = 5IHAF » 128 * 95% 741
OH2tXN (28N =3tH)
11,0008 * 109HAF » 12€ * 95% 1,254
OZF2tX (2t =3tHl)
5,0002 * 5JHAF * 52 * 95% 1,235
Og2X(HHNRSEAZ)
13,000 = 2JH A = 128 * 95% 297
Od - 240 dUHE 4,446
osg=2 45,000 = A0 = 128 *~ 95% 2,052
OZ2 S eI M & Al 2
45,000 = 204 = 128 * 95% 1,026
O Sa& A2
40,000 = 304 = 128 * 95% 1,368
OBAFE U=
120,000& * 5 * 23] * 95% 1,140
405 XHoHFE S HI 1,250 0 1,250
02 & AR 1,250 0 1,250
O=9IH EM7E 12,5008 ~ 100& 1,250
ANEE X2 490,527 504, 140 N 13,613
201 et d| 158,563 156,379 2,184
01 AFR 2t 2| bl 34,020 28,330 5,690
oY== 34,020
Os2D| ot 2| ths 200,000 = 12&€ 2,400
Os2D| otMZ2|IHH (28 )
200,000 = 12&€ 2,400
Os2)| ot (ML)
200,000 = 12& 2,400
OZAIIAANE HIIEH 200,000 = 13| 200
OZAIAAE HIIBH (28 T)
100,000 = 13 100
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZAIMNAAE FIEHE (ML SH)
50,000& = 13| 50
OZAINAANE HINFBH(HHRSEAR)
50,000& = 13| 50
O&Uz3IIE =& 1,000,000& * 13| 1,000
O2gd EIIFA 100,000& * 13| 100
OAgord 2= 470,000& = 12& 5,640
Oaxgtotd 2= (2 )
250,000& = 12& 3,000
Oxgotd IS (MR 2)
240,000 = 12& 2,880
OALYotd 2| S(HHMRSHEAZ)
230,000& = 12& 2,760
OdJIetd ZeltHd = 530,000& = 12& 6,360
OFIIotE 2= (2EU)
130,000& = 12& 1,560
OFIIGE el (M)
130,000& = 12& 1,560
OFIIE 2B (HHMRSEAZ)
130,000& = 12& 1,560
02 8323l 124,543 128,049 A 3,506
(OFSPIR=E=; 78,795
OJleg 6,370& * 200kW » 12& 15,288
OJlez(=8) 6,160& = 120kW » 128 8,871
OJl2g(HHSEdAlZ)
5,230& = 100kW » 128 6,276
OFE=3=1 80& = 20,000kW » 12& 19,200
OoMs=z(28H) 81& = 20,000kW » 123 19,440
OMNSE(HHMSEEAZ)
81& = 10,000kW » 12& 9,720
OHNdtl=ER3 500,000& » 12& 6,000
oAMdl==3(28H) 300,000& = 12& 3,600
OXOI+ERS(HHMISEAZ)
100,000& = 12& 1,200
OdHL LRI (T AIIIA)
6003 * 4AI2t » 80m * 100 19,200
OYWHE LB (ZAIIIA/ZET)
6003 * 6AI2t » 6m = 30H » 160 10,368
OHUL LI (ZAIIA/HHISEAIZ)
6002 * B6AI2F = 5m » 160 2,880
O3sE HFA 1,900
od=2 1,500,000& * 13| 1,500
OYMH=2 A2 400,000& = 13 400
O3=egdsus2 StMoiaE2& 600,000& 600
206 M= Hl 18,496 19,489 A 993
01 =8l 18,496 19,489 A 993




FEDUHUSD 2YMY
THRMEELHS
g 2332 xy (&)
SN HH-S(BN) - MBAY - B il HlnE2
oftlsa ZE2A2E UM 3,489
OppOtCTH 400& + 1000H 40
(O DN 5,000& * 2004 100
Otls 7,000& = 50% 350
S8 =47 10,0002 * 30H 300
(OF = 3,000& = 30& » 204 180
OJzs Eorgx= 150,000& * 10K 1,500
O #2H 77,0008 * 7S 539
Od2= XMl 40,000& = 128 480
ovte & JIAHKM 200,000& * 5& 1,000
ogs & SAXNH 150,000& * 58 750
(OE= ONIN 100,000& * 53 500
OXts M0l 200,000& * 58 1,000
(OFSE=SRRS =W ] 150,000& * 53 750
OYHEZNEMD 700,000& = 1204 8,400
O&sd HE2A3I(3kg) 120,000& * 204 2,400
OHHMSESTAZ JIETHAY HdEH(FLR)
1,377& = 50L * 33 207
401 Al& I 28I 313,468 328,272 A 14,804
01 A& HI 313,468 328,272 A 14,804
OonoMeEEd HE FA 22
4,859@ « 5,287m 25,690
O=sgldzusa 122 FA2eL
2,401& = 1,591m’ 3,820
OZEUUMBAIZ A2 KX 22l
2,401& = 1,518m’ 3,645
OHHKREHAZ A€A2 KX 2]
4,804 = 1,186 5,698
O2EUHAMEAIZ AIAE HYI| X2
2,500,000& 2,500
OSHENTELNE2 AAE W) ST 2
2l 3,000,000& 3,000
Odzusz, 2N 2L FX2a
2,500,000& 2,500
O&EIIANE SRl 15,000& * 930kw 13,950
OJIAHEH SN 2el 3,000,000& * 18 3,000
odes FLE M2 2 FHd|
23,0003 » 27000 & 6,210
O&JI2Le M2 & FHyl
10,000,000& * 0.5& 5,000
OAY4AH S22 5,000,000& 5,000
OSHAE R 4,000
Oogs sE& 1,000, 000& 1,000
OCCTV AlAEEHI 1,000,000 1,000
Oo=gs Ja4FEy 2,000,000& 2,000




AN FFNMEIES2 2E ML
M 2RMBEARS
ool HRSABAXY (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3XJ] EH WA 3,000
ogts& 2,000,000& 2,000
OYWH=2E A2 1,000, 000& 1,000
oOgdI KX 2l 2,255
OgdEIl sXlzel 2,000,000& 2,000
OdzH(ER) 1,275& = 2004 255
(OFSPNR=R=PNRT ¥l 15,200
OSYME 2 8,000& * 600m 4,800
O&AIS2H 8,000& « 800m 6,400
OAioILt & 4,000
-2 & 30| 10,000& = 400m 4,000
Ozsgldzus2 I ZHRA SA
3,000,000& = 23| 6,000
OHHM=ESHAI2 2] A2FHH|
2,000,000& = 13l 2,000
OUE HUNMHEY B
5,500,000& = 23l 11,000
onoiMeErE2 527 ui # AL
120,000, 000& 120,000
OnQIMeEr=2 A L2 UHSHMEX &
A SAt 70,000
O &l 5,500,000& 5,500
O Al £l 64,500,000 64,500
FUFAZ2 7X 22 243,291 184,679 58,612
201 2et24d] 157,975 97,573 60,402
01 At 22l 22,572 23,160 A 588
o 2 IMA(2EU, dxuUsH, HHR
SHEAZ) gAAS 500,000 * 128 * 95% 5,700
ogtEa ReIAHAIAE
550,000& = 12& = 95% 6,270
O UHAMEAIZ SOAHIAIAEH
250,000 = 128 » 95% 2,850
OSTENHLDST 2UFHALH
330,000 * 123 » 95% 3,762
QUHNRSEAIZ 2 ZHIAIAE
350,000& = 12& = 95% 3,990
02 =24l 135,403 74,413 60,990
ogtsa - 2EU A2 & HHRS A2
3L BY 3,761,180& * 3¥ » 123 135,403
206 = Hl 20,216 17,106 3,110
01 MHZ 4l 20,216 17,106 3,110
ogga MYIIS=(100L )
1,770 = 4004 = 128 850
O2&U MHINS=(100L )
1,770 = 3004 = 12& 638
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HFEDAMNUSY SYAYD
SHRUBEUTS
2020 XX 22l 0t HAEE

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
©2020 & X 22/0F HAEEH 1,800,000,000& 1,800,000
& 270,000
Al 1,530,000
HES2HAL(EFDoME22 2FAG D) 393,894 307,885 86,009
ol 2 HAH| 290,109 207,449 82,660
o124 4| 290,109 207,449 82,660
101 2121 4| 290,109 207,449 82,660
01 22 83,993 78,153 5,840
OxWU2RY 83,993
OAZIA2ZRY 83,993
-2 BFAL 10,509 * 19Y * 30AI2F x 128 71,882
— At 11,2133 = 3% = 30AI2t = 128 12,111
02 JIEt®& 2% 119,194 60,807 58,387
oOXJAZ = 104,769
OAZtA2FY
10,6433 * 5% + 100Al 2+ = 128 63,858
oorraR4Ly
3,548% * 29 = BA|2t * 365! 20,721
o= 85,5503 * 29 « 118¢ 20,190
OLEAIH SHHTAI AIZAZ2R2E
1,2133 + 1Y * 30AI2F » 12 4,037
OANZIAEHH LD H AlIAZ 2SS
8,528& * 1% = 30Al2+ = 12& 3,071
OAMZEHEEH LI S ATPA AHAZ2Z RS
9,812& * 1% = 30Al2t = 12& 3,533
OUBIAIH Al2HAZRE
10,509& * 1Y = 30AI2t = 12& 3,784
03 I AHLZ2ZZAHE S 86,922 68,489 18,433
oJeza(tz) 52,300
O34 Xt 2,123,590& » 14 * 12& 25,484
Oe64d Xt 2,234,590& * 14 * 12& 26,816
oY 26,461
ons==4g 15,167
- 2 Xt 40,0008 = 128 * 29 960
AR 2R Y
15,220 = 2 = 30Al2t x 128 10,959
-HIIE A2 81,200& x 2% » 20¢ 3,248
OY &SIyl 1,089,540& * 23 » 29Y 4,359
OZ &l 130,000 = 128 * 2H 3,120
o254 108,945& x 128 = 29 2,615
O&AxE 50,000& x 128 = 29 1,200
o4UEE = 8,161
O=30HzFEE = 77,300,000& *« 4.5% 3,479
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CnEZEERE3 77,300,000& * 1.5% 1,160
OAHZE2E=RES 77,300,000& * 3.23% 2,497
OFINRAEEERES
2,497 ,000& * 8.51% 213
Ot ER = 77,300,000& * 1.05% 812
|23 bl 103,785 100,436 3,349
JlE2&l 103,785 100,436 3,349
201 L2l 63,860 63,244 616
01 At 2t 2l 47,956 51,464 A 3,508
OJl2ge=8AH (19¢)
500,000& = 19 = 95% 9,025
O=ZHI(J1E&HI)
8,000& » 2498 = 8 « 12& » 95% 17,511
o249+ 21,420
Og&+=g 60,0003 = 3¥ = 119 21,420
02 =224l 15,904 11,780 4,124
oOfERI 9,516
Og et 3503 * 3008 « 123 1,260
OsJl 2,150& * 3208 » 12& 8,256
Od3R= 10,0002 » 29 « 12& 240
OXSLB(2S ) 10,0008 * 1HA + 128 120
ONSILB(HHMSSHAIZ)
50,000& * 10HA * 128 600
(OFSJ=i= R =] 3,240
OQHY 3EAMES 70,000& = 12& 840
Oy sldMs=(28H)
50,000& = 12& 600
OEY SIHABE(HRRSEAZ)
150,000& * 12& 1,800
o2& galtl 1,100
OAMXI&E 3l 100,000& * 13| 100
Ot=2DEE BEF 3 100,000& =+ 13l 100
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OFdeHagsl 150,000& * 13l 150
Os=sg=s2gal 300,000& = 13l 300
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OSIHNEY HEESEE 500,000& = 13l 500
O A& EHl s Xl 588
O#H A ZHl 588
APN =Y\ 4,200,000& = 108 » 6% 252
G U PSEER = 698,000& = 8CH = 6% 336
202 oddl 27,725 26,112 1,613
01 SLHOYI 27,725 26,112 1,613
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HEDolIse e st pa
HY: 2aoM BE L FS
@ AXEE 2 AMAE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFXNANEEH B0
20,000& = 15H = 203l 6,000
OXNXNANUEBE XX WH
75,8003 * 50& 13 3,790
O&IIuUs & Edal2 FAX 44
8,000& = 43% = 128 4,128
OZXXNEZUHAL 2SKH 600,000 = 169H 9,600
OXNJSAA 29 22,260
OX2SAX AHIXA(SAH, nSHl)
20,000& = 3% = 315¢ 18,900
O&FJIus ¥ dao &A% =S4
8,000& = 352 = 123/ 3,360
HANEsE=S 22 61,000 76,000 A 15,000
201 Let24d] 61,000 76,000 A 15,000
01 At 22/l 57,000 72,000 A 15,000
OXX 2= M 22l 57,000
OXX EB2EF MH
300& * 4JH=04 = 10,00000 * 95% 11,400
OXX 8228 WA
1,000& = 3Z * 5,0000 = 95% 14,250
OAX XLz HMAEA(1=d)
50,000& = 5008 = 95% 23,750
O delz M (E3E)
4,000& * 2,0008 = 95% 7,600
02 =224l 4,000 4,000 0
OXX BEANEE FXNE*
200,000 * 2074 2 4,000
Bt3 On-0ff X XI M H St 28 H Q! 43,650 45,000 A1,350
307 glz2tol & 43,650 45,000 A 1,350
02 PIZHEHAHEE 43,650 45,000 A1,350
OB (0n-0ff) GHABE & 2FF
45,000,000& = 97% 43,650
ot AXNEE 9,700 10,000 A 300
307 2201 A 9,700 10,000 A 300
02 IS AHE L 9,700 10,000 A 300
OO0ttt AXEE
1,000,000& * 102 * 97% 9,700
MRNEE 2320 58,200 60,000 A 1,800
307 21201 A 58,200 60,000 A 1,800
02 B AAHEX 58,200 60,000 A 1,800
O&AXEE ATZD 60,000,000& * 97% 58,200
AN AL ZsHa 38,390 37,000 1,390
307 gl2tol & 35,890 37,000 A1,110




SM: BEDUMSSH S0 T
M 2|4 BE Y A
ool HXEE 2 M CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 35,890 37,000 A 1,110
OXXNAL2s s =& 37,000,000 = 97% 35,890
405 TtabF S| 2,500 0 2,500
01 AL EFFH S 2,500 0 2,500
ORXNALRSL 24% A 7Y
12,500& * 200& 2,500
AroE =3 38,800 40,000 A 1,200
307 glz2+0ol & 38,800 40,000 A1,200
02 QB HUANFEE 38,800 40,000 A 1,200
OXXE= HMESHA 40,000,000& = 97% 38,800
(MMAZRX 233 2SN 106,545 52,900 53,645
307 21201 A 106,545 52,900 53,645
03 I EE2HHIES 106,545 52,900 53,645
O(ANAHEXI 23t LA
106,545,000& 106,545
gER NS Z2IY 446,473 488,702 AN42,229
gStEd E32H 21,360 21,844 A 484
201 L4l 21,360 21,844 A484
03 &Ar2 I 21,360 21,844 A 484
ou=sa 22 A JHA 21,360
OZ A=< 745,000 = 163l 11,920
OZoui 10z 15,000& * 62 = 163l 1,440
OZ2AuM HE 12,0003 = 2508 * 23| 6,000
OsE28 W 1,000,000& * 23| 2,000
e s T2 29,325 16,700 12,625
201 L2l 28,125 15,500 12,625
01 At 22l 7,125 5,000 2,125
O0tJl= AXNE22I] W= WA=
1,000& = 5,000% * 95% 4,750
owsZUM 2 LIS B 23X ME
5,000& = 5008 * 95% 2,375
03 &AL2 Z I 21,000 10,500 10,500
OX0tJt= AXNBZ2LD s A
70,000& * 3003l 21,000
301 LBEXZ 1,200 1,200 0
09 HALAMHIXI &3 1,200 1,200 0
OnSLA B0 (22])
20,000& = 3% = 203/ 1,200
oelol AXEstetn 9,700 10,000 A 300
307 glz2tol & 9,700 10,000 A 300




SH HEDONYSE stooipy
29 PE U M
Cel: w2 Ns2s T2y (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 DIZtZAAMEE X 9,700 10,000 A 300
ool ol&XZsstn 29
10,000,000& * 97% 9,700
& X CH & 9,700 10,000 A 300
307 212t01 & 9,700 10,000 A 300
02 DIZtZAAMEE X 9,700 10,000 A 300
OXXUE 29 10,000,000& * 97% 9,700
HEA 12 13 HUI 25 166,230 170,000 N3,770
201 et A bl 1,330 0 1,330
01 AFR22t2ldl 1,330 0 1,330
OFFAl 12 12 HUDI| &8 FHARJS 32
=g 100,000 * 7 * 23| * 95% 1,330
307 212t01 & 164,900 170,000 A5,100
02 DIZtZAAMEE X 164,900 170,000 A5,100
O12 13 ML &= 170,000,000& * 97% 164,900
=S58l dFuNsd 29 210,158 210, 158 0
307 QI2t0| ™ 210,158 210, 158 0
05 A2t &= 210,158 210, 158 0
o252k drus 29 210,158,000& 210,158
R L dANSF 279,053 403,275 N124,222
BEZ K2 124,058 127,375 N3,317
101 @121 31,808 34,375 N2,567
04 JI2ZtH 22 XNEE % 31,808 34,375 N2 ,567
220 2 MAA RS2 31,808
(OPIE=3= 68,720 * 2 x 262 * 8 28,588
OHLESE FE2 28,588,000& * 3.23% 924
O&IAYEE 242 924,000& * 8.51% 79
O=0dza 232 28,588,000& * 4.5% 1,287
OnseEsg 2¢2 28,588,000& * 1.5% 429
OMEE 23 28,588,000& * 1.05% 301
OYg &=yl 200,000& * 13 200
201 et A | 29,250 30,000 A T50
01 AFR2 22l Y] 14,250 15,000 A T50
O4+FD U HAM AS
5,000,000& * 23] * 95% 9,500
ORE 22EsSE 5,000,000& * 95% 4,750
02 332494l 15,000 15,000 0
osZEx SEEE= 15,000, 000& 15,000
206 M = Hl 13,000 13,000 0




SM: BEDUMSSH S0 T
HY: 2aoM BE L FS
Sel: K2Rl L HASY (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 H| 13,000 13,000 0
oORsE BE&xE 13,000,000 13,000
401 Al HI L £ 0HHI 50,000 50,000 0
01 Al& H| 50,000 50,000 0
OArFERE B=Hel 50,000,000 50,000
g K242 53,610 53,900 A 290
201 et 3,610 3,900 A 290
01 A2t 2| bl 3,610 3,900 A 290
ORE JIE A M=
100,000 = 204 * 95% 190
ORE AW Y Mosg
300,000& * 3H * 43| x 95% 3,420
405 XH&HF S HI 50,000 50,000 0
01 XAt =2 F S HI 50,000 50,000 0]
ogs=s #¢ 50,000,000 50,000
JE ¥ sgd 69,845 70,000 A 155
201 gBt2Ay| 68,845 69,000 A 155
01 AF 2t 2| H| 4,845 5,000 A 155
OR=EAOE 2¢t2 ™Al 2,850
OANZEY o 2HZX FX
2,000,000& = 95% 1,900
OgaYaz 1,000,000& * 95% 950
OSE N JMAHS HOUN BIIRAFE |/A¥ =
= 150,0008 ~ 7 x 23| * 95% 1,995
03 A2 G HI 64,000 64,000 0
OJEsg8 ™ MAl 64,000
O&A Z2AF Y EE2E M 40,000, 000& 40,000
OEE M2 20,000,000 20,000
Oo2s ¢ 282 4,000,000 4,000
301 et M= 1,000 1,000 0
09 #HAIAHI XIS 2 1,000 1,000 0
OSAIAIHI B A= 1,000
OJI&8EYE M s A 1,000,000 1,000
MAMAIA 2H 22 31,540 28,000 3,540
201 2Et2A Y| 31,540 28,000 3,540
01 AP 22| H| 31,540 28,000 3,540
OFAIZ UM € HE &X
6,000,000& = 95% 5,700
OMENMALY RXE 25,840
Oga 2Ex 2LIHZE 19,200,000& * 95% 18,240
OBtEANH =2l 8,000,000& = 95% 7,600




HEDONUSE SoeTa
23RN PE L Ha
stzoin 2 X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
st=Qi & X 82,885 140,500 AB7,615
st=AXlstsl X& 2,910 3,000 290
307 21201 A 2,910 3,000 A 90
04 DIZHHALALSE E X 2,910 3,000 A 90
Ost=ARss EHS=U3
3,000,000& = 12| » 97% 2,910
2UAMXIEE XA 2,910 3,000 290
307 21201 A 2,910 3,000 A 90
04 QIZFHALAIH B & 2,910 3,000 A 90
O2HAMXIES S=U3
3,000,000& = 18| » 97% 2,910
Molst=2stwgels st=Usl X 12,065 12,500 A 435
201 Let2d] 5,275 5,500 A 225
01 At 22l 4,275 4,500 A 225
OXNXN=EE2&8= ZAHIH  100,000& * 501 = 95% 475
O=s2=23 25l 4,000,000& = 95% 3,800
02 =224l 1,000 1,000 0
OsE=8 288 1,000,000 1,000
307 21201 A 6,790 7,000 A 210
04 QIZFHALAIR B = 6,790 7,000 A 210
OMOolst=stwEolsl st=03l
,000,000& * 13 * 97% 6,790
St AN Y2t 65,000 72,000 A7,000
201 Let24E] 65,000 72,000 A7,000
01 At 22l 45,000 72,000 A 27,000
ONeIMEs M27d 2t 25,000& » 600 15,000
OS2ZHNUMED AANLAE SEoATA L2
30,000,000& 30,000
03 A2 Z Hl 20,000 0 20,000
Os&t= MoILE i = 10,000,000& * 23] 20,000
HARL 25 U SBAS(MAINZSRA) 300,000 0 300,000
= 150,000
< 45,000
Al 105,000
ANNBE 2 45,000 0 45,000
= 22,500
< 6,750
Al 15,750
307 glz2+ol & 45,000 0 45,000
= 22,500
< 6,750
Al 15,750




SH: BEDOMUST ST
B 2594 PE U S
Sl AR BB U EEALKMAISRY) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 45,000 45,000
oOXXNBE 29 45,000,000& 45,000
= 22,500
< 6,750
Al 15,750
AT o dA B2 75,000 75,000
= 37,500
< 11,250
Al 26,250
201 2yt 2 Y| 59,000 59,000
= 29,500
< 8,850
Al 20,650
01 A2 22| 57,000 57,000
O&XHAEAl =& 57,000
OAl TH2H| 3,000,0002 3,000
= 1,500
< 450
Al 1,050
O&AMN U= 2,000,000& = 23| 4,000
= 2,000
< 600
Al 1,400
ONANEE 28 =5 4,000,000& * 23 8,000
= 4,000
< 1,200
Al 2,800
O&ASZ2t TIASd 0l H&
17,000,000 * 23| 34,000
= 17,000
< 5,100
Al 11,900
ose=ss +¢ 2,000,000& * 38 6,000
= 3,000
< 900
Al 2,100
OEEHN HMH (=2 ¢ 2A=20)
1,000& = 1,000% * 28 2,000
= 1,000
< 300
Al 700
02 8322l 2,000 2,000
OTANES 28 2= 1,000,000 = 23l 2,000
= 1,000
< 300
Al 700
301 LA F 16,000 16,000
= 8,000
< 2,400
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(NIAIDI = 3 4H)

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
Al 5,600
06 QI2t0I =2 (4 HI 16,000 0 16,000
©0I2t01 =2 (4 4,000,000& * 2¥ = 23| 16,000
2 8,000
& 2,400
Al 5,600
X HaZEH= 180,000 0 180,000
= 90,000
== 27,000
Al 63,000
201 Bt A H| 180,000 0 180,000
= 90,000
& 27,000
Al 63,000
01 AP 2t2ld] 180,000 0 180,000
ogazZdl A X 180,000, 000& 180,000
= 90,000
= 27,000
Al 63,000
HESHALH(EZF DM s RA) 35,089 37,730 A2 ,641
=l 35,089 37,730 ~2,641
DR sl 35,089 37,730 N2,641
201 et | 16,573 17,150 ABT7
01 AtSR 22l b 11,458 12,060 A 602
oJlegsed 500,000 * 9 = 95% 4,275
o3l (JIE&H])
8,0008 * 9% * 8 x 12&€ * 95% 6,567
otulEZs= 616
O 15,000 = 1JHAF » 128 * 95% 171
O Xl & X 13,0002 = 3JHAF = 128 * 95% 445
02 332494l 5,115 5,090 25
oRHER2 3,075
O8I 2,150 = 500= 1,075
oAx 5,000& * 400= 2,000
OAN&EEH & 2,040
OHAEEH| 2,040
-& K= A 5,000,000& * 1CH * 6% 300
-2l 600,000& * 5CH * 6% 180
===l 12,000,000& * 2CH * 6% 1,440
-0 oA 2,000,000 = 100 * 6% 120
202 04| 16,416 17,280 N\ 864
01 2LH O HI 16,416 17,280 864
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